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NOTES: Section 4.5 - The Slope of a Line

Goals: #1 - I can describe what slope means. @ @ @

#2 -1 can find the slope of a line.

Homework: Section 4.5 Worksheet

Warm Up:
1. Graph the equation x = —3. 2. Fm{l the‘x and y-intercepts and graph
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Exploration #1: Work with a partner.
¥
] Bl
1. Plot the following points: .
4
Point A: (—2,3) i
Point B: (5,6) |
Point C: (—4,—1) o s 43210 1234 6 |
Point D: (4,-2) -
-4
Point E: (0, 3) s
_f-,‘
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Notes:

; - ‘ be drawn.
Between any 2 points on a coordinate grid, there is exactly one MﬂL that can

_Slm](_ is a number we use to describe Q\‘( Lh“ﬂ and _ﬁmm of aline.
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Example #1: Find the slope of the line.
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Exploration #2: Work with a partner and follow each step.

a. Find the slope of the line below.

b. What is the difference of the labeled x-coordinates?

5,073'

c. What is the difference of the labeled y-coordinates?

d. How could this relate to the s/ope of this line? )

| = Yise (unenge b §

3 2 (N (honge in X
e. Canyou model t};is in formula?

Yo = Y,

Xz - X,

Notes:

When given two ordered pairs, we can use a fo_rmula to find the S \Q V Q, of the line.

(x5, ¥1)  (x2,¥2)

Y\SQ =. \!l "\{\
YUY\ X’L"X\

slope =
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Example #2: Find the slope of the line that passes through the following points.

a. (0,3)and (6,1) b. (=2,1) and (1,-3)
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XT‘X\ ,7_!)—\
|- 3 (D
b -0 \;‘L
o -2 T
S0
-i- 1
2,
C. (%(\)i)‘and )((3:,115)1 d. Q—gn and (x5£3 )
4, - ' :i'l' ﬂ\
)(L—Xl lex‘
I 3- (-1
- 5=9
'-+
-4 0
2 h
— [ wndakingd
\J |\
e. (1,2) and (5,2) f. (2,7)and (1,3)
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